Name Enrichment

Who Won the Race? 1-3

1. Mark, Paul, Carrie, Sam, Lois, Raul, and Meg are in a
bicycle race. Use the clues below to find the order the
racers were in when the winner crossed the finish line.
Write the name of each racer on the meter line.
¢ |ois is 40 meters ahead of Mark.

Raul is 20 meters from the finish line.

Carrie is 10 meters ahead of Paul.

Mark is 20 meters behind Raul.

Paul is 30 meters behind Mark.

Meg is 20 meters ahead of Mark.

Sam is 70 meters behind Meg.

100 m 1
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80m +
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30m +

20m +

10m +

FINISH Om —

2. Who won the race?

3. Which 2 cyclists were in a tie when the first cyclist finished?

4. If Sam had been 30 m ahead of Mark when the first cyclist
finished, what place would he have been in?
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